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import numpy as np

import matplotlib.pyplot as plt

import seaborn as sns

sns.set()

from sklearn.model_selection import train_test_split
from statsmodels.stats.outliners_influence import
variance_inflation_factor
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pandasZ{FE>TcsvI7AIL DRHIAHZEITD
raw_data = pd.read_csv( 771 IL &)

A IANATZT7AILDIEER
raw_data

HARAATET7AILDBRYDHEHER
raw_data.head()
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nﬂﬁ%ﬁnfi’&ﬁﬁﬁ j—%)

raw_data.descrive(include="all')

BREEICEAWEWT—20 5 D EI R
data = raw_data.drop(columns=['5l] 241 kL)

RIBEDHEHT—2DHER

data.isnull().sum()

RIBEDHLT—2DITOHIR(TTT—2D5%LINDETHNIELHELEWNER LD,
data = data.dropna()
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distplotAV R ZFERLTT—2 D IKEHERT S
sns.distplot(data[' 5|21 kL)

quantile XV YR ZFERALTT—2DHNANIEZEIFRT S
q = data['5| %4 ~JL'].quantile(0O~ 1 DR D £ E)
data1 = data[data[ 51|21 ~JL1<q]

datalZdata2 ZEHEZEHLTLE, LEEORNBEITRTOIITITS

T—RDATYYREDITIEE LT, data_cleanedIZHEHRT 5
data_cleaned = data2.reset_index(drop=True)

T—REHRT S

data_cleaned.descrive(include="all’)
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scatterz > Tt ZHEET 5o
ax = plt.subplots(1, 3, sharey=True, figsize=(15,3))

ax.scatter(data_cleaned[ ¥4 3L & #{4 '|,data_cleaned[ €@ £ %14 ]
B M58 B ERETT 5,

log_data = np.log(data_cleaned[ B Z %%
data_cleaned[log_data’] = log_data
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sklearn|Z[X 2 EHIFEZIER T DAY YNV = statsmodel 54T 5! & F
95,

from statsmodels.stats.outliners_influence import variance_inflation_factor

variables = data_cleaned[[ J: 3L ZZ %4 ]

vif = pd.DataFrame()

vif['features'] = variables.columns

Vvif['VIF'] = [variance_inflation_factor(variables.values, i) for i in
range(variables.shapel[1])]

ZEHBEIRBINEEDONAIEREEIHVEWNGZD T, ZIITIXERBLELY,
ZEHBEIRBINERDONSIIZDWTIZEIRT 5,
data = raw_data.drop(columns=['521 kL)
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JfET—A(train) EHREET — 2 (test) TT—2IZREIT 5,
train, test = train_test_split( 2L =L\ T—4%')

X1 TIAILLTIET5:25THEIINDS, Bl GZEBLI-LMGE X5 MEIEET
Do

test_size = E|&
X2 T—RETUF LIZREIEIND, DU LEREZETEL-WMEEIIRDE %
{BET S, (3651%4)

random_state = 365



